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Ill Semester B,A. Eximination, March/April 2028
(NEP) eA22 - 23 and Onwards) (Freshers)

ECONOMTCS
DSC - 3.2 : Mathematics for Economics

Time :2/z Haurs Max. Marks : 60

lnstructions : 1) Answers shoutd be written comptetely either in Kannada or in
English.
Answers of Part - A should be continuous.
Answers should be precise.

PART _ A

hrdd- a

{10x2=20)
*r-de];dun 6Q {,d..dad srgo;.ro. €,e €,5*r1 odc* scdd.$;.

What is set ? Girre one example.

illt ;ero..iJ ? lo*: u--c3ldd5d3iJ-J #nG.

lf U = {a, b, c, d, e, f, g, h}, A = {€1, b, c, d, e} and B = {b, c, d, g, h}, find A, and

B'. Here U denotes universal set.

U = {3, b, c, d, e, f, g, h}, A = {a, b, c, d, e} Se B = {b, c, d, g, h} ,i:md A, d)di
B'C) Eod.:tsoGa1:D. qe_U ccardJ AdjnCii:, i,o?eiDdd.

Ulhat is linear functiJn ? Write its general form.

deangd elo*rd -:odoed: ? 
"dd 

mtsC, dcilddJ. udog:o.

,, o = [u '-1. ,,no A.A'.
12 1.1'

ts 3l
A = I ^ . i scndA.A'dcd:toGcgro.
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S. ln the consumption function C = 800 + 0.25 Yd, find the value of investment

multiplier. Here C = Consumption expenditure and Yo = Disposable income'

qid:doedd e,)cud c = 800 + 0.25 Yo uotil draGdc$ d:radc& E:;ieoacjO'

tdde-C = si,lqat€il; jE*;:4 Yo = i-cjJ5;"d;"6)o;d t=acJ:'

6. ln the total revenue function TR = 40 Q - 2Q2, find the total revenue and marginal

revenuewhenQ=2'

z,L:: eJeoojid AcsJdTR = 40 Q *2Q2 dCI-O = 2 smd z'U:.:.eJeDo$ i:6: :'eil;:3

soto$C5,' d:d:ioGo}:o'

7. What is Null ar Zero matrix ? Give one example'

dradr dJrdrd ;cCded: ? t"od: erumdd#caJd{ d-ea'

l-- -a

B. FindA'+Aand24when A=l : :i
L1 el

[s B-]
A : I 

" - i scPd A' + A ;J:d: 2Aoi:d: dcd;bGc3ro'
[1 9] 

j {

9. What is sPecific tax ?

- c -r r<r -:cded; ?lJ(Jr ri 9U, l ,(/uJtrra*./ j

10. Given p = 4,Q = 1500 and TC = 500, find the total revenue and the value of

profit.

P = 4, Q = 1500 dJQ TC = 500 scnd ?-UD"r (J6-JCJ d)4 sa?.Jd dporddl
.r'n?-o A^6\1. .1,
o ; c,9?co L;,.,,\./._ \J.

11. lf y= xn then find 9I anO !. H.r. 'd' and 'E' denotes ditferentiation and
dx Ex

elasticity resPectivelY.

Y = xn eJmd 9I *a, ? q dc#;b6d:o. Ee-'d' drQ 'E' ;ou;d: $d:;sft de;C

dx "Ex or

dJ$ tu gnai8ddiD xl6t'3xrdd.
r+.i;iqr

12. What is market equilibrium ? Write the conditions for market equilibrium.

dDdJdco$ iabdnee;d ocdded: ? cD&dtc$ ic:d,oe eid Doe;cdd3$ir ;'rd:e;o'
5
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PART _ B

^--, ^6cpcrl ) - (^J

Answer any four questions. Each question carries five marks.

o3nQoadd" *ot€,d*rl9ri erudo*o. d,.A €,d4ri ecd> erodrl$.

13. ln a class, 60 students are selected Economics, 40 students are
Mathematics and 20 students are selected both the subiects. Find
number of students in the class and represent it in Venn diagram.

NP - 150

(4x5=20)

selected
the total

15.

16.

;:-cd: ddfreo$O*60 &mdQrd$t eSra{dq, 40 aen.erilSJ ds-ligdiJ trd:
20 im"Qrd$: * cddle tdoirddr scft Cladncaesoc. armCi gdfredJe$)C

*ltr-::-ctrrprriqj 5rJtrojJilJ 6:dJ.o&3:lo ;Jg .tddi, s.f dilcJJ d:ned irgi,Qi,.

14. Given the demand function D = 300 - 2P, construct the demand schedule.
Show it in the graph of demand curve. Here 0 < p < 6.

J^( q--a
w9;wL ^'^c'i^a\ "c ^a 'i-l D = 300 - 2P :.j:-J L-+:,dscm zJ."Gdlt e,iJT'.Jaca])-J,\ WU* wvwel,tr\.w lJ 

- UL.,V - a-l Jj!:.

if:,b. .;Q. z;:GE Cra;:fr -6*ct9_:ic:O&0. ^6,q.0 < p < 6.

What is elasticity of demand ? Mention the different types of elasticity of demand.

ueeiioi: 
ig;Daddddcoddeii: f a3eGdc3; 

tgxtoilsddC 
&ed atdds$o Bet o.

ls13l
Givenn=lz 1 4l findlAl.

II
L3 21l

lAl dq dcd;&:&c3:o.

17. Find the maxima and minima for the following function Y = x3 - 9f + 15x - 30.

dsqd:C zlcz;d8 doqd rba deqdc$d}dcd;bGci:o Y = xt - 9x' + 15x - 90.

18. Find the price elasticity of demand for the given demand function Q = 100 - 4p
atP=5.

p = 5 semd sie Gdc$ zlcz.:dand Q = 100 - ap cirO* zid CrcdC: 
Aglaatdd*dq

ts13l
I I t,

A=i2 1 4lt:mrl

[s 21]

*azdr2^hn1.Flvvwwwwv.



NP - 150 Iilliltililillfilililtililfit

PART - C

rlad- e

Answer any two questions. Each question carries ten marks (2;1$=20)

^J.-J-Jr^ -J-i -JJ-+J 
-^-J. ^ - 

-) 
o )JJ )-1 --^rr-r\'-vJjolQvQqJC aJaC^XJ .i?d-./)i//l UUgU.dO. 99 r"i)d"r/\ Co.9j U-U/)\lJ.

19. Solve the following equations by using Cramer's rule.

7x+2Y=$Q

x+BY=79

3:t*dJi i.)Jsudsr71$-; 5),5')e io$5JddJ z.;9:,*r:d: Sbdb&.
tj ol, r "t

7x+2Y=69

x+8Y=76

20. Under perfect competition, market demand and supply functions are D = 30 - 2F

and S = 2A + 3p respectively. Find the market equilibrium level of price and
quality. Show this graphically.

io+ $ r r, €D rs o]) e- ;;dJsu3 d\'ed ile + u. 6 3iJ L : iJEile;J E, i.'m,ft D = 30 - 2p *gl
C 

- 
r)n , C^ r-A+ -l-{ri.-{^-. +<-*^ar\-1 <-(^:+ 

"J.-3 
*.?. *{-m-{lr

\-f - Z.\J T \JP 'JI lUJ. .JlJrvJO *_*- ^Ji^ivtiJrivlilJ a^iv3-uw ,Je 'eJ\2rr 
-v,):^Jvea:,uaJi

Ca;'(rg- -Ao \F. i:?air <raori iaa'-9
U Uijr.J(I)Li, l./\& \J. CJ (, ^-^, :^^^; g v O 3l e\ \J ^J.

21. Explain the role of mathematics in the field of Economics.

) A.n=| +*, ?!^A4? 
--? 

{-r -.--<s-'r
t3 (+l Aen 6'."{)ruJU_ i)l:9CJ -;v$$:}J rcJOxJ.

22. Find the equilibrium level of output, total revenue, total cost and profit for the given

total revenue function, TFI = 40Q - Q'and total cost function, TC = Q'+ 4Q + 4.
,/r

?,uiJ t:mc$d ;,roud TR = 40Q - Q2 X:g: z.bJJ ;C z33L-d TC = Q2 + 4Q + 4 tsoErl
:Jrqizl

+<\+^4c'- <\tl- ?{-a . 1:\ cr-Ar\ . l:\ -ioi -'ir-?r a-c{*Jr -ai.9 F,aorn
^J.)aLJ{a-g{a/CJ 

i^^z!j(, :rr;^Ir}ar, *** vL^Ju-vUr *-**-aJi\^Jg^J \rrrWj.Jl.\Jq OULtvUUU9-L,lJLi.


